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3XML�GDQ�V\XNXU�VD\D�XFDSNDQ�NHKDGLUDW�7XKDQ�<DQJ�0DKD�(VD�NDUHQD�DWDV�

EHUNDW� GDQ� NDVLK1\D� SHQXOLV� GLEHULNDQ� NHVHPSDWDQ� XQWXN� PHQ\HOHVDLNDQ� WXJDV�

DNKLU�LQL��6HJDOD�DQXJHUDK�\DQJ�GLEHULNDQ1\D�GDSDW�PHPEHULNDQ�NHNXDWDQ�URKDQL�

\DQJ�EDUX�EXDW�SHQXOLV�XQWXN�VHODOX�VHPDQJDW�GDODP�SHQJHUMDDQ�WXJDV�DNKLU�LQL��

3HQXOLVDQ�WXJDV�DNKLU�LQL�PHUXSDNDQ�VDODK�VDWX�V\DUDW�\DQJ�GLDMXNDQ�XQWXN�

PHPSHUROHK� JHODU� 6DUMDQD� ,QIRUPDWLND� SDGD� SURJUDP� VWXGL� ,OPX� .RPSXWDVL��

)DNXOWDV�,QIRUPDWLND��8QLYHUVLWDV�7HONRP�%DQGXQJ�GHQJDQ�SHQHWDSDQ�MXGXO�WXJDV�

DNKLU� LQL� \DLWX� ³'HWHNVL� 3HQ\DNLW� -DQWXQJ�9HQWULFXODU� 7DFK\DUUK\WKPLD�'HQJDQ�

0HWRGH� 3ULQFLSDO� &RPSRQHQW� $QDO\VLV 'DQ� /HYHQEHUJ� 0DUTXDUGWV

%DFNSURSDJDWLRQ 3DGD�6LQ\DO�(OHNWURNDUGLRJUDP´��$GDSXQ�WXMXDQ�GDUL�SHQJHUMDDQ�

WXJDV�DNKLU� LQL�DGDODK�XQWXN�PHOLKDW�KDVLO�DNXUDVL�\DQJ�WHUEDLN�GDUL�GXD�VNHQDULR�

SHQJXMLDQ� \DQJ� QDQWLQ\D� DNDQ� GLJXQDNDQ� XQWXN� PHQGHWHNVL� SHQ\DNLW� MDQWXQJ�

YHQWULFXODU� WDFK\DUUK\WKPLD WHUVHEXW��3HPEXDWDQ� WXJDV�DNKLU� LQL� WDN� OXSXW�EHUNDW�

GXNXQJDQ� GDQ� ELPELQJDQ� GDUL� GRVHQ� SHPELPELQJ�� VDKDEDW�VDKDEDW� SHQXOLV� VHUWD�

GRD� GDUL� RUDQJWXD� \DQJ� VDQJDW�PXOLD�� 3HQXOLV�PHQJXFDSNDQ� EDQ\DN� WHULPDNDVLK�

EXDW�GXNXQJDQ�GDQ�GRD�GRDQ\D�

3HQXOLVDQ� WXJDV� DNKLU� LQL� WDN� OXSXW� GDUL� NHVDODKDQ� GDQ� MDXK� GDUL�

NHVHPSXUQDDQ�� ROHK� NDUHQD� LWX� SHQXOLV� PHQJKDUDSNDQ�PDVXNDQ� GDQ� VDUDQ� \DQJ�

PHPEDQJXQ�JXQD�XQWXN�PHPSHUEDLNL�SHQHOLWLDQ�EHULNXWQ\D�GDQ�GDSDW�EHUPDQIDDW�

EDJL�NHPDMXDQ�LOPX�NHGHSDQQ\D��

$NKLU�NDWD��VD\D�XFDSNDQ�EDQ\DN�WHULPDNDVLK�GDQ�PRKRQ�PDDI�DSDELOD�DGD�

NHVDODKDQ�GDODP�SHQJXFDSDQ�NDWD�SDGD�WXJDV�DNKLU�LQL��6HPRJD�7XKDQ�PHPEHUNDWL�

VHWLDS�XVDKD�GDQ�KDUDSDQ�\DQJ�LQJLQ�GLFDSDL�DQDN�DQDN1\D��$PLQ��

%DQGXQJ����-DQXDUL�����

3HQXOLV


